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Read the following instructions carefully and follow them :

()

(ii)

(iii)

(iv)

(v)

(vi)

This question paper contains 30 questions. All questions are

compulsory.

Question paper is divided into 4 Sections — Section A, Section B,
Section C & Section D.

In section A - Question number 1 to 17 are Multiple Choice (MCQ) type

Questions. Question No. 15 to 17 are Source based Questions.

In section B - Question number 18 to 23 are Short Answer (SA) type
questions. Answer to these questions shall be written in 80 to 100

words. Question number 18 & 19 are Source based questions.

In section C - Question number 24 to 28 are Long Answer (LA) type
questions. Answer to these questions shall be written tn 120 to 150

words.

In section D - Question number 29 & 30 are Map based questions.

SECTION - A

There are 17 questions in this section. All questions are compulsory

1. Who among the following has introduced the concept of ‘Neo-determinism’ ?

(A) Ellen C. Semple (B) Ratzel

(C) Griffith Taylor (D) Paul Vidal de-la-Blache 1

2. Which one of the following is garrison cantonment town ?

(A) Kandala (B) Saharanpur

(C) Jharia (D) Mhow 1
3. 3Mfeh vt o1 U8 B
A) Fater e B) ez wyier
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(C) HETEA T (D) faferear gma

4. S e oh ARG SUFTHI 1 UTGU 3R 3k hIATshH o Hal fdehed ! JHT :

I.  37=or 3R feero

II. ot &Tea

I & fadem

IV. ek favemo

fereney

(A) I II, 101, IV

B) LI II, IV

©) LIV, IIL I

D) I IV, 11, III

5. WA H HHd gl & Gy ° Ffaftga el o1 ufeu 3R ) fehed w1 ==H Hifre :
I ©iuid g amies gfd & aeeg |
I1. 3 & qoTiE oh! WSteht g ohict & |
II1.  ept fmTor et T Temm Srfeenor g foham ST § |
IV. 3 31 foehm ol Tfd e § H8reh 2 |
fomea -
(A) e [, 11 wd [11 9 2 |
(B) aet IL, III Wl IV H& § |
(C) S, [T [VEHEEE |
(D) Haa [, I TT IV EE E |

6. Tr=fciiaa 7RI % TepRI § & TEt I 1 =34 HIT :

(7RI & THR) (TR)
(A) 3N - erH
B) T - fomet
(C) e - "aT
(D) WREA - 3PolRE

3. Sub-field of Economic geography is —

(A) Election Geography (B) Historical Geography
64/2/3 4



(C) Geography of Resources (D) Medical Geography 1

4. Read the following approaches of human geography and choose the correct

option of the chronological order :

I.  Exploration and description II. Spatial organisation
III. Areal differentiation IV. Regional analysis
Options :

@A) L IL 1L IV
B) I, 1IL IL, IV
(C) LIV,IIL II
(D) 1,1V, II, III 1

5. Read the following statements regarding Border Roads and choose the
correct option :

I. Border roads are strategically important.

II. They strengthen defence preparedness.

ITII. ‘National Highways Authority of India’ construct these roads.

IV. They are helpful in accelerating economic development.

Options :

(A) Only I, IT and III are correct.

(B) Only II, III and IV are correct.

(C) Only I, IT and IV are correct.

(D) Only I, III and IV are correct. 1

6. Choose the correct pair of the following types of towns :

(Types of Town) (Town)
(A) Industrial - Itarsi
(B) Mining - Singrauli
(C) Garrisson - Satna
(D) Administrative - Ankleshwar 1

7. Fmafafed & & wW o arfo swdh 6 a1 # 2
(A) Tt ST 31oe Sfiee 1 dr it snenfid smerfies formett @ e § |
(B) wrHior sfeEl o g geu aME e # |
64/2/3 5 P.T.O.*A




(C) TTHOT &1 | Sfiae o1 @7 St 3R g siar & |
(D) Tt &9 @ iR s afe=mi 2 | 1

8. feuwmu=em I ud 11 o1 A& shifore 3R T2 foered o1 w3 Hifse |
FHY-I ST FHIS HEHTE AT FUSAT 1 @ HH o6 fAIY THTE hed a1 3311, 98 49
TS 81 <hel ST Fehdl 2 |
FHYA-IT W@ 8 BH ITe 3 GIHTET bl ST H T@eht YRA H ST =13t oe) werail’
SN A= TR |

ey .

(A) HHIWIIEEE |

B) I TAdE |

(C) e 1vd [ & 8, g YA [, U 11 ! Tl A T 2 |

(D) Hu7 1T 11 TE 2 R B [ U7 [1 HI T e 2 | 1

9. Frafafed ¥ & wF a1 @l snofa sam i 2 7

(A) ez (B) uegfutem
(C) Hie (D) 9% 1

10. fogd @ & gefia Fefaiaa sy 1 afeu 3Tk 981 foshed &1 =3 hife |
[. 38 @ 1 qed T il 2 |
II. 39 3cdTeH 3Teeh T H 2T 2 |
111, 3o foei YR <A1 forde, Sues < 3TTergaehdl it 2 |
IV. 358 {9y JehR sl a1y TR Juned} o1 STTa9aehdT gl & |
Terpe
A) FAITNTHRE |
B) HEAIITIVHEE |
(C) HaA I TEE |
(D) HaA 1T IVEEZ | 1

7. Which among the followings is NOT the correct feature of rural settlements ?

(A) The rural settlements derive their basic needs from land based
primary activities.
(B) In rural settlement, social relations among them are intimate.
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(C) Inrural areas way of life is complex and fast.
(D) The sparsely located small settlements. 1

8.  Study the given statement I and II and choose the correct option.

Statement-I : A society which fails to acknowledge and take effective
measures to remove such discriminations cannot be treated as a
civilised one.

Statement-II : Duly acknowledging the adverse impacts of these
discriminations, launched a campaign called Beti Bachao — Beti
Padhao in India.

Options :

(A) Statement I & II are correct.

(B) Statement I & II are incorrect.

(C) Statement I and II are correct, but Statement I is not the correct

explanation of II.
(D) Statement I and II are correct, and Statement I is correct explanation

of II. 1
9.  Which among the following is NOT the mineral based industry ?
(A) Iron and steel (B) Aluminium
(C) Cement (D) Salt 1

10. Read the following statements regarding open-cast mining and choose the
correct option :
I.  This is the cheapest way of mining.
II. The output is in large quantity.
III. It requires specially designed lifts, drills.
IV. It requires special ventilation system.
Options :
(A) Only I and II are correct
(B) Only III and IV are correct
(C) Only I and III are correct

(D) Only II and IV are correct 1
11. 13T 1 GIE ffeiad &enl § | foheeh STavid aT1aT § ?
(A) TS B) fedfas

(C) qdi=h (D) =qds 1

64/2/3 7 P.T.O.*A



12. Torsll T W SHEEA i GHTeHh gl FHmfaiad 4 4 forg fRafq § 3t 7 2

(A) 3= THE, T TR T 3= ATEH H |

(B) 3= IH, I HcIGU AT I3 YT T |

(C) e e, 3= gegex et fore s |

(D) T S, T goger aen e sema A |

13. TmfeRaa St wuml o1 3reaam HifSe 3tk T&t fashed 1 == it :
HYA-I SR TRAU 1 J(H ST H ISR SR Jeidl gFl 3Tk ae
ST & |
HYA-IT RO ST A1 a1 fRE 8l STt = He i 9 sedi |
ferepe
(A) HIARIT T2 |
(B) $hadhUT [ TS 2 |
(C) HWITITEE I HUT I, [ HTHS IO & 2 |
D) FFITITEE | HAAIL I HT TS aiom 2 |

14. forga o FrferRaa Yo o & foreshl o gaiies 8 ?
(A) IR-HTEHNE THT
(B) UR-hTS3 torHTt
(C) arteferms ur wergidia Yemm
(D) UL TR Termmi

11.  Under which one of the following sectors, collection of information comes ?

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

64/2/3 8



12. When will be the growth of population positive in any place and in which
one of the following conditions ?

(A) High birth rate, low death rate and high immigration
(B) High birth rate, high death rate and low immigration
(C) Low birth rate, high death rate and low immigration

(D) Low birth rate, low death rate and low immigration 1

13. Study the following two statements and choose the correct option.

Statement-I : In the last stage of demographic transition both fertility
and mortality decline considerably.

Statement-II : Resultant population is either stable or grows slowly.
Options :

(A) Only statement I is correct.

(B) Only statement II is correct.

(C) Statement I and II are correct. Statement II is not the correct result
of statement I.

(D) Statement I and II are correct. Statement II is the correct result of
statement I. 1

14. Which one of the following railways is the longest in the world ?
(A) Trans-Siberian Railway
(B) Trans-Canadian Railway
(C) The Australian Trans-Continental Railway
(D) The Orient Express Railway 1

Tratafiga gia =1 stegea FifSe s yga 9. 15 9 17 &1 3 fafge

TR FTE
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T e Ter wew % 3ifa ufverdt Sy Searg &7 § srafeed § | 78 ard § gAR o
& gaiteres Ui fUse fSell 3 9 U 2 | S s fowwd: e 1 3= 9igur sqeh!
foreIwaT & | RT TS 9 SR HE 3 7 &, R T TS ST Ta YW QI FE1eE1 o I
@ H Frefientr & R vaferd 81 78 7 | 98T YR TR % CwmHier e qen iy
AT GHI &1 | STol Y01 JEEH sk he TSI &, fie 2rgan fiel o awbetargds
forafera foherm T 2 | I8 Frefiehtor i Ush e fir <ht Turarl 1 gURH § d%d g
BT | STt |07 Yo RIshH fH, Sl 71 IHEdfcRll o s gl bl TgaHal & 31K
TR {ceh HETEAT o TaUH Td HTHGTHeh SawIRTdT § ART ehl STTS(ITaeh Sl GURA 1 S-E
A1 3 | e ufa aut 8, g foemm g & fift ae wsher meft firem g franf=a
ST T TeU 3Tkt ATGSTT Tofet Sl T 20 Sfererd HfH w1 ST=R foha 2 |

15. Tr=fciRea o @ oF &1 -l 1 ae 1 8 ?
(A) T =ife it | Srermshiad (B) yfar st IcaTehar § HH

(C) &R = 1 T (D) iy = yfy &1 o
16. Tmfefaa @ @ - frefieo &1 oH a1 qe8 TgE HRoT g ?

(A)  HaT LA (B) = 3TERar

(C)  fereh ScdTEEhel (D) =xed ¥ty 7 Feream

17. ST & Ged < |1 YA Hel T8 & 7
(A) ST SHATN TgA et 2 |
(B) Y- T=1eher o SHROT ARTI § T S TS 7 |
(C) TSI TLHR 3 T&T STt YHAUT TS HTshH o fow o fean 7 |
(D) STl EYRYT e = g3 H yfy o Suer o fosiy Firem fean # |

Study the following source and answer the Question No. 15 to 17.

A Case Study

64/2/3 10



15.

16.

17.

Jhabua district is located in the westernmost agro-climatic zone in
Madhya Pradesh. It is, in fact, one of the five most backward districts of
the country. It is characterized by high concentration of tribal population
(mostly Bhils). The people suffer due to poverty which has been
accentuated by the high rate of resource degradation, both forest and
land. The watershed management programmes funded by both the
ministries of “Rural Development” and “Agriculture”’, Government of
India, have been successfully implemented in Jhabua district which has
gone a long way in preventing land degradation and improving soil
quality. Watershed Management Programmes acknowledge the linkage
between land, water and vegetation and attempts to improve livelihoods
of people through mnatural resource management and community
participation. In the past five years, the programmes funded by the
Ministry of Rural Development alone (implemented by Rajiv Gandhi
Mission for Watershed Management) has treated 20 percent of the total
area under Jhabua district.

Which among the following is correct meaning of ‘land degradation’ ?
(A) Waterlogging in degraded land(B) Declining productivity of the land

(C) Increasing of degraded forests (D) Increasing of agricultural land

Which one of the following is the main cause of land degradation ?
(A) Soil erosion (B) Low productivity
(C) High productivity (D) Increasing wastelands

Which statement is NOT correct regarding Jhabua ?
(A) Jhabua is tribal concentrated district.
(B) Poverty has increased in the people due to land degradation.
(C) State government has provided money to implement watershed
management programme.
(D) Watershed management programme has outstanding contribution in
land treatment.
g -q
Y AT 18 3R 19 T Seia A # |

18. feuwwuag = gfew 3t = few ma w91 =1 3o fafige
64/2/3 11 P.T.O.%A
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& YGUT < YHE@ | fafag I, FefiHiehd FHiv 791 die-hIg ®Hl, disraiad Hiet-
e 3 ST 3crfe § | ST A, Aseeient, quT argeriies niafafer & 93 fafim
Icqd G HTT Y B AT SAETh fohg TG0 T ATl AR H1 ¥t ST S Hehal 2 |
GIRR TR % TR b SHia % de | & T gry A1 S e |

wEl TGl o |l WAl § H AT G IGT AT T IR e ST FI § | FHeh] s
3R SBT3 TIeeh] X YR Tt 3 S Tob AT /AT /AT h TR, 3 G<ehi ohi G211
AT AT ATe <hl feufa (ariemramset & Heul o 37 srenl W el et 2 1) T
I H AR <h1 Sgdl AT Sl I@M 9 IANA b1 U 1 91ed UoH deh 3T Hiftra
Tt 2 | e oft eafr g st R B e S & s W s - fe g 2
st Srewor T fafre B & qe gkt s SgueT % Eia & foh sienfies &, ufte
a7, gaTé-312 e gEIHnt ¥ g A Bt ST B | WRA % h§ 9 & vd HEEI §
& T SEd AT ¢ |

(18.1) AT guUT 3T 37 T8 HIT |

(18.2) WA o WERI  eaf YguvT ] &€ Hehe § ?

(18.3) “eaf yguur v faifire g1 8 |7 b Gfed IfE IR |

19. feuw T faz w1 sreaaa hifse 3R 3o = few T y9ai w1 3w fafigu

Eifen el

%W
asshl N TETEE o

SECTION - B
Question No. 18 and 19 are source based

18. Read the given source and answer the questions that follow :

64/2/3 12



The main sources of noise pollution are various factories, mechanized
construction and demolition works, automobiles and aircraft, etc. There
may be added periodical but polluting noise from sirens, loudspeakers
used 1n various festivals, programmes associated with community
activities. The level of steady noise is measured by sound level expressed
in terms of decibels (dB).

Of all these sources, the biggest nuisance is the noise produced by
traffic, because its intensity and nature depend upon factors, such as the
type of aircraft, vehicle, train and the condition of road, as well as, that of
vehicle (in case of automobiles). In sea traffic, the noise pollution is
confined to the harbour due to loading and unloading activities being
carried. Industries cause noise pollution but with varying intensity
depending upon the type of industry.

Noise pollution is location specific and its intensity declines with
increase in distance from the source of pollution, i.e. industrial areas,
arteries of transportation, airport, etc. Noise pollution is hazardous in
many metropolitan and big cities in India.

(18.1) Explain the meaning of noise pollution.
(18.2) Why is noise pollution hazardous in metropolitan cities in India ?
(18.3) “Noise pollution is location specific.” Explain with argument.

ket

19. Study the given picture and answer the questions that follow :

Delta of the Nile

El Mansura

- =" 1
R
snnbiuav?aﬁ By
Yagaz amalli 4
= " Dt R

Bir Hassan Lakes

Creat
Bitter Lake

(19.1) T 4 feu 7 Sremmt w1 9@ fafeu | 1
(19.2) 3 AR & 9 fetfigy 1 39 Femmi 9 32 § | 1
(19.3) o T A 3Tk B & &9 ¥ 3iferd w1 o 7 feAfEaw | L+l=1
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20.

21.

22.

23.

24.

e : Fmafafaa wa e gt e < fo o T@n 19 % R wE

(19.1) T & TS &1 HETETT bl el & 7 Y+ Y=1
(19.2)  9ATHT &L kT T3uTor fopm &1 o6 g femarm T 2 1
(19.3) U™ &L SFT &R o SHAfaH I o 98 feARay | v+l=1

T GEAT 20 A 23 Y ITT THR b T &

(a) “Hie aR W forge <t SHERET T 90 TfdeTd 39 10 Tfawra Tl 9T § e s
2 17 forgar o SEE forawor wEd & Hey # 39 Y i v HIifv | 3
AT
(b) “WaTH ! T IR THEH o ofia Sgat Tger I L i foun ¥ v @ ¥
T o &Y H HEd a1 S gehar 3 17 TG ol GHITd S aTel 379y Td
Tfdehy ShTeh! & Hed H 39 Y i T HIfVT | 3

WA | SHEEA1 Jhg TEe T (1951-81) 3l THE foRINaTaT o1 fowerso Hif | 3

“Toreel T=ITE a1 § T H 1Y 3caTe a1 WRReh] § Seoi@-14 391d 85 & |7 389 HY 6!

@ HIfT | 3
(a) ‘9N UgE et Hifd 2002’ S g faemwarst w1 favemo Hifv | 3
EDE
(b) WA H A hifd AR (2015-16) % T&T IeIaT T forgeryor ST | 3
g -1

T GEAT 24 | 28 e ITT YhRH T | |
(a) “Fmior forenati ° 3= Trenfieh! Tefiaam Tl 2 17 39 eF i sare i |
AT
(b) Torea T 3T 6 rafeufa w1 wvifad i aTet fonegl ute Sien] i sArET hifT | 5

(%]

(19.1) Name the waterway given in the picture. 1
(19.2) Name the two sea connected by this waterway. 1
(19.3) Name the ports marked as ‘A’ & ‘B’ in this picture. Yo+ %=1

Note : For Visually Impaired Candidates in lieu of Q. No. 19 only.
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20.

21.

22.

23.

24.

25.

(19.1) Which two oceans are connected by Panama Canal ? b+l =1

(19.2)  Which country has constructed ‘Panama Canal’ ? 1
(19.3) Name the terminal ports of ‘Panama Canal’. Yo+ %=1
Question No. 20 to 23 are short answer type

(a) “Broadly 90 percent of the world population lives in about 10 percent
of its land area.” Examine the statement in context of patterns of
population distribution in the world. 3
OR
(b) “Migration may be interpreted as a spontaneous effort to achieve a
better balance between population and resources.” Examine the
statement in context of pull and push factors that influence
migration. 3
Analyse the main features of Phase-III (1951-81) of growth of population
in India. 3
“There has been a significant increase in agricultural output and
improvement in technology during the last 50 years in India.” Examine
the statement. 3
(a) Analyse the characteristics of ‘India’s National Water Policy 2002’. 3
OR
(b) Analyse the main aims of ‘Jal Kranti Abhiyan (2015-16) in India’. 3
SECTION - C
Question No. 24 to 28 are long answer type questions
(a) “High technology i1s the latest generation of manufacturing
activities.” Explain the statement. 5
OR
(b) Explain any five factors affecting the location of industries in the
world. 5
“qeltaeh ToRaTsheTTdl H IcdTed SR fafma gl afffed 8 & 1" s e i @i | 5
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26. “JAUTT SR T 8HT, TP o oI TR ATHETh BidT 8 |7 39 e o ==
3alsy | 5

27. (a) WRd H U159 ATEH Fohd TehR T To TRt UG o il gl e Tieer &g Tcfesh

gfagTeHe Td T UiFe JUTTell & ? 3gTetvl dfed TI8 i | 5
JAYAT
(b) 9RA H SFTER AR e T GR b €I § T I o T bl IETEWN Alad T8
HIf | 5

28. “EHf<A ST o™ qiEASHT o 3T aREsd del €91, $HiY 3R 308 Feia
Torenat e ariors o | AaTstl o Tk = Tt et €t TE |7 TR
& o Hed T 39 e ) T ST | 5

gs -9
9 GE&AT 29 TS 30 T ARG T2 |

29. foga < feu MU yoHifae TaT-AHfE T Ha Wit s sl A, B, C, D, E, F a1 G
Y 3feha foram T B | 370 A Topegl a1 e ffeigd SHesit shl Tgmrar § $ifse
3R 3k G 9 39 ur@ Wi 78 Wi w fefan

A, Tl STHTER 1 EeE ST o 1
B. forga amfoss 3T iy 61 & 1
O R e e 3 He g 1
D. Yq@ Fqdl 9= 1
E. 7 ufteed Tat 1
F. ufend siais arg uoe 1
G. Y AUy 9y uwd 1
25. “Tertiary activities include both production and exchange.” Examine the
statement. 5
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26.

27.

28.

29.

“Undertaking international trade is mutually beneficial to nations.”
Justify the statement.

(a) How are pipelines the most convenient and efficient mode of
transporting liquids and gases over long distances in India ? Explain
with examples.

OR

(b) Explain with examples of the importance of Indian ports as gateways
of international trade.

“Integrated tribal development project laid the highest priority on
development of transport and communications, agriculture and allied
activities & social and community services.” Examine the statement in the
context of Bharmaur region.

SECTION - D
Question No. 29 & 30 are Map based

On the given political outline map of the world seven geographical features
have been marked as A, B, C, D, E, F and G. Identify any five of them with
the help of the following information and write their correct names on the
lines drawn near them :

A. The largest country of South America

An area of extensive commercial farming
Easternmost station of ‘Trans-Siberian Railway’.
A major sea-port

The shipping canal

4 E O QW

An international airport of Asia

G. An international airport of Europe

e : Fmfafen wm Faw g wheriiE * foe wer vern 29 % W w | R
I ¥ o I foafae ;

29.1 &% I gE H CrTUT STHIERT o TH 9 €31 1 A [AIRaT |

= T W S S O
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29.2
29.3
294
295
29.6
29.7

3TshieRT o forqa afoT oS Y &1 ot 1 fofiaw |

R AT3S R (od o Ja8 Qe 9H &1 91 fafau |

[SToTE b Ueh Y@ T Ui o1 =19 faRau |

LIS TR-HETE T Tt o T ufvem o I 1 419 fafew |
ferefifert Stermt <1 dey @ ET A fRH M AR ?

e ST oy oo fohe 2w o fRua 3 7

30. WX o feu U ToHife @-amtes 0 fefaiad 5§ 8 Tl qia WrTifae aev sl

3T gl g Sifera hifTe 37t 37ek wm faafa

30.1  Haieeh TR ATl T

30.2 GEY %Y SHEEHT g 9ol TS

30.3 It T JTUTH IUTEEHh T

30.4 WAS-dle HI @H

30.5 SR — ot e hREHT

30.6  ITR-cfer M o1 Al fol &1 wee

30.7 RRING — T9E LT UTE

e : Tt s e gfdeta wienliE < foae se7 g@n 30 & @M W F | 6
qie J¥AT o STR faRaT |

30.1 T TR dTet T 1 1 fafaw |

30.2 W B SHEEIT U 9ol TS o1 A1 fARay |
30.3 il & 7R ScdTesh T o1 9 fefau |

304 Wadldle S EHFE T HfRme ?

30.5  SIHTR dcT YA HREHT fohe Tsa I fRa B 7
30.6 IR gl MR % It i o WM w1 A feIRam |
30.7 i Tg@ Tl uoe fohd s A fRua R 2

Note : For Visually Impaired Candidates in lieu of Q. No. 29 only.

29.1
29.2
64/2/3

Answer any five questions.

Name the largest country of South America in terms of area.

Name an area of extensive commercial grain farming in Africa.
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29.3
294
295
29.6
29.7

Name the western most station of Trans-Siberian railway.
Name major sea port of New Zealand.

Name the western most station of Trans-Australian Railways.
Which country the Mississippil waterways is mainly related ?

In which country Johannesburg international airport is located ?

30. On the given political outline Map of India, locate and label any five of
the following geographical features with appropriate symbols :

30.1
30.2
30.3
30.4
30.5
30.6
30.7

State with the highest level of urbanization

State with the lowest level of density of population

The leading coffee producing state

Khetri — copper mines

Jamnagar — Oil refinery

The Northern terminal station of North-South Corridor.

Tuticorin — major sea-port

Note : For Visually Impaired Candidates in lieu of Q. No. 30 only.
Answer any five questions.

30.1
30.2
30.3
30.4
30.5
30.6
30.7

64/2/3

Name the state with the highest level of urbanisation.

Name the state having the lowest level of population density.
Name the leading coffee producer state.

In which state are the Khetri copper mines located ?

In which state is Jamnagar oil refinery located ?

Name the northern terminal station of North-South Corridor.

In which state is Tuticorin major sea port located ?
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Map for Q. No. 29

7o 9. 29 % fog aAfes

Ay M)

d) 2uIng : qria(

* A

20

64/2/3



64/2/3 21 P.T.O.*A



64/2/3

22

*A



6123 PALX® 23 P.T.O.*A





